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QUESTION 1

You are verifying your distributions for your transactions. You Just ran the receipt accounting distribution 

process. However, your purchase order receipt is not showing up. 

What do you need to do for your receipt to show up? 

A. Run the Transactions from Procurement to Costing process. 

B. Run the Transfer Costs from Payables to Cost Management process. 

C. Run the Create Accounting process. 

D. Run the Clear Receipt Accrual Balances process. 

E. Run the Transactions from Receiving to Costing process. 

Correct Answer: E 

 

QUESTION 2

What are the predefined areas that give you visibility into the status of Receipt Accounting, on the overview page in the
Receipt Accounting work area? 

A. Receipt Accounting Processes, Cleared Accruals, Receiving Balances, Receipt Accounting Transactions 

B. Receipt Accounting Processes, Accrual Schedule, Receiving Balances, Receipt Accounting Transactions 

C. Receipt Accounting Processes, Accrual Schedule, Receiving Balances, Receipt Accounting Period Validation Status 

D. Receipt Accounting Processes, Cleared Accruals, Receiving Balances, Receipt Accounting Period Validation Status 

E. Receipt Accounting Processes, Accrual Schedule, Review Journal Entries, Receipt Accounting Transactions 

Correct Answer: A 

 

QUESTION 3

Your client uses actual costing and needs to cost to the subinventory level. They have a few subinventories that hold
normal goods and one subinventory that holds returned goods. They want their normal goods subinventories to be
costed differently from their returned goods subinventory. Which cost policy supports this requirement? 

A. Create a separate cost book for the normal goods subinventories and one cost book for the returned goods
subinventory Add both cost books to the same cost organization. 

B. Create a separate cost organization for the normal goods subinventories and one cost organization for the returned
goods subinventory. 

C. Manually create one cost profile for the normal goods subinventories and one cost profile for the returned goods
subinventory. 
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D. Manually create one valuation unit for the normal goods subinventories and one valuation unit for the returned goods
subinventory. 

E. EnaWe the inventory organization that holds the subinventories to be costed to the subinventory level by changing
the organization parameter field from "Costing Level" to "Subinventory." 

Correct Answer: E 

 

QUESTION 4

How is the standard cost of a manufactured configured item calculated? 

A. It is based on the material and resource requirements of a released work order. 

B. The standard cost of a model item is calculated. 

C. The standard cost is calculated for every possible combination of options under a model 

D. It is based on the actual cost of the work order after it is completed. 

Correct Answer: B 

 

QUESTION 5

Your client has accounting rules that need specific customization. Which two options allow them to accomplish this"1 

A. Copy and rename predefined subledger journal entry rule sets before modifying them. 

B. Use a different journal entry rule set for each ledger with a different accounting convention. 

C. The subledger journal entry rule set does not need the same accounting event class as the accounting method. 

D. Journal entry rule sets do not require accounting rules. 

E. The subledger journal entry rule set does not need the same accounting event type as the accounting method. 

Correct Answer: C 
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